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Orientation Week 4 Week 8 Week 12 Christmas Week 2 Week 6 Week 9 Week 13 Week
Week Semester Semester Semester Vacation Semester Semester Semester Semester 18
Semester 1 1 1 2 2 2 2
1 8:00 9:00 10:00 11:00 12:00 13:00 14:00 15:00 16:00 17:00
Monday Clinical | Vital signs Gastrointestii Confidentialit
Free Time Re€asoning  geifgpygy  Partt Self Study break Self Study = System Free Time
Workshop:
10/10/2022 Rosie
Tuesda Classification Introduction = Structure of the Responses Learn
4 Free Time ©f Disease  to Microbial = Cardiovascular and el to Cell and Self Study Outco
11/10/2022 Infection Respiratory System Tissue -A
Injury Rougt
Wednesda Introduction Structure MD2001 formative Clinical Skills Video
Y Free Time [0 Self Study ~ @nd MCQ test Recording - Optional Drop  gejf Study ~ Free Time
Immunology Function of In Session
12/10/2022 H Skin
Thursday Pancreas Urinary Infections
Free Time  andLiver  System Self Study break RREEERE Self Study Free Time
13/10/2022
Friday Normal and Communication Skills
Free Time lé_tl)normal Blood Workshop: Questioning break Self Study Free Time
14/10/2022 fims
Saturday Free Time
15/10/2022
Sunda
Y Free Time

16/10/2022
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Secondary active transport takes stored energy of Na+ gradient created by
sodium pumps. This can be either symport or antiport.
Just recall that digoxin enhances Na+ influx, wher + increase leads to

enhanced Na+ outflow. Hence, digoxin effect is mediated by increased K+.
Effect of K*], on d| oxin =

. ol tas [ ] g MED\C]NE%
inhibition of the sodium pump —
100 —— [K*],=3 mEg/L

— [K*],=5 mEqg/L

— K

=10 mEq/L

Dose produci ng icity in 50% of the
X = Minimum effect d e for 50% of the populati (ED)

Valency value is
Nernst equation: : helps you evaluate the equilibrium potential Ex;

" RT_in Xl
The equilibrium Ex= — -_
potential zF X1,

in Nernst equatio

* where R =gas constant
T = absolute temperature
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Kay's MD2001 (Extra)

full blood count What does FBC stand for?

interleukin-5 What protein promotes the growth of eosinophils?
imatinib tyrosine kinase inhibitor

toxoplasma gondii What protozoan causes toxoplasmosis?
cryptosporidium parvum What protozoan causes cryptosporidiosis?
cryptococeus neoformans What fungus causes cryptococcosis?

aspergilus flavus What fungus causes aspergillosis?
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Kay's MD2001 (Extra)

radial deviation abduction at wrist
candida albicans What fungus causes candidiasis?

a-helix has () amino acid residues per turn.
mesenchymal stem cell stem cellthat can divide into bone, cartilage, or fat
interatrial Foramen ovale is an (nteratrial/interventricular) opening.
fiagellin protein that makes up flagellum

compressional Hard deposit gives () strength to bones.
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Kay's MD2001 (Extra)

aerobic Mesosomes are used for (aerobic/anaerobic) respiration.

Grams iodine As a trapping agent in the second step of Gram staining, what stain is used?

histidine Patients with familial hypercholesterolaemia often have mutations in the () residue of LDL receptors.

pleurisy inflammation of pleura

polysaccharide layer of bacteria that protects them against immune attack

multiple Osteoclast has (single/multiple) nucteus/nuclel.

Gram negative Neisseria meningitids is a (Gram positive/Gram negative) bacterium.

Give feedback Continue
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Book Piano Room
By Kay Akashi

Time: 1000 ms  Memory: 2566000 kB
Submit Code v

Previous Submissions v

Problem Statement

In the Music Centre, there is only one piano practice room. There are n time slots in a single day available for the piano practice room.

One person is permitted to book several time slots in a day. The rule for booking is that, one firstly chooses consecutive time slots, and he/she can use practice rooms during those
time slots where there's no preexisting booking.

Students and teaching staff love playing the piano, and today m people are trying to book piano rooms. It is known that i-th person (1 <i< m) would like to book a room
between ;-th time slot and r;-th time slot inclusive.

Your task is to output the number of time slots in which the practice room is vacant.

Note that, i-th person can make bookings earlier than (3 + 1)-th person does (1 < i < n — 1).

Constraints
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Subtask 2 (80%)

100 < n,m < 10°.

Input

The first line of input contains two integers, n and m. Following are m lines i-th of which contains two integers J; and 7.

Output

Output the answer.

Examples
Input
52
12

Output

Explanation

Time slots 1 and 2 are booked by the first person. Time slots 4 and 5 are booked by the second person. The only remaining vacant time slot is the time slot 3, so the answer is
1
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